 d 7/-—5<
BEE L OBOE ZE (2 s =
THT ES=%) EZ v I ESD AEt
FrigE| 7.20 % 2.20 % 1.60 % 11.00 %
HEE| 24,000 HH 9,000 MH 10,000 HH 43,000 HH
B FEXE 1,002,375,000 HH 327,349,500 M 94,991,400 HH 1,424,715,900 HH
BERZE EES gD NED AEt IRITE DE
FrigE| 6.63 % 2.76 % 241 % 11.80 % 0.80 %
HEE| 40,057 M 16,126 M 17,473 M 73,656 H 30,656 M
B E%Es 1,155,302,800 M 465,418,600 M 148,415,600 M 1,769,137,000 HH 344,421,100 M
=1 EED XIED I ES AEt R/ITEDE
FrigE| 7.20 % 2.30 % 1.90 % 11.40 % 0.40 %
YL 28,000 HH 11,000 H 12,000 HH 51,000 K 8,000 M
e 1,053,213,800 M 361,623,700 M 112,287,400 M 1,527,124,900 M 102,409,000 M
£2 HERNEY E&ES T iED NED AEt IRITE D=
FrigE| 7.20 % 2.20 % 1.90 % 11.30 % 0.30 %
YL 28,000 HH 10,000 M 12,000 M 50,000 M 7,000 M4
B E5E 1,053,213,800 HH 340,054,300 4 112,287,400 M 1,505,555,500 M 80,839,600 HH
=3 EETHEDS EES ER ) N ED AEt BITE DE
FrigE| 7.20 % 2.40 % 2.10 % 11.70 % 0.70 %
YL 27,000 HH 13,000 M 13,000 M 53,000 M 10,000 H
BEEE 1,040,503,200 M 395,677,700 H4 122,252,300 & 1,558,433,200 M 133,717,300 HH

K5 FERBR—ATHE

AEN—ZTHOHE




— A&7 OFPEEEFEER—-R)

[Z=1]) M
FE WIER] WIE % =%
SH6EE 80,788 86,595 5,807
ST EE 86,595 93,462 6,367
S8 FEE 93,462 100,325 6,363

& Er 19,537
[Z22]) M
FE WIER] WIE =%
SH6EE 80,788 85,372 4,584
ST EE 85,372 92,850 7,478
S8 EE 92,850 100,325 7,475
& Et 19,537
[Z23]) M
FE WIER] WIER =%
S 6EE 80,788 88,371 7,583
ST EE 88,371 94,350 5,979
S8 EE 94,350 100,325 5,975
& Ft 19,537




